B IBFIR (SIERD
Ca—FrovoHRE)

BUREHE 127 a—NIvIRE—R Ry — NEFHERSEAA KRS ER215E3815H8

INEAE KSR E %? 1000m

=% TR

148
EHIE #4 No. K% TE B/a 24 L E%
1 2 19 A¥H% BEH PFEUVIHST 204406 Q
2 4 117 B H HEIST 2.44.798
3 6 16 THE H£EA HEYSD 3.31.528
248
EHIE #4 No. K% TE B/a 24 L =1
1 1 14 # FiiE HEIST 202953 Q
2 3 20 /hith TRER PFEVHTT 2.03.603
3 5 18 EfE #Nh HEIST 3.02.022
4 7 15 T f&A HEYSD 3.15.067



25K B 3 (268 B IR 67)

va—kcoYoER

FURRFRO1=Ta—IVIRE—R Ry —MEFIEREAB KRS

INFEEZFF BF 1000m

59Uk JEfL No K4 Bil] B IBAL A B 152 2% X 1 B0 5K ik
FE 1 14 % FifE WEIZD 1 2.02.953

2 19 8% BEH PFEFUVIHIST 1 2.04.406

3 20 /hth T PFEFUVIHIST 2 2.03.603

4 177 %R WEIZT 2 2.44.798

5 18 =@ & WEIZT 3 3.02.022

6 16 5F EA WEIZT 3 3.31.528

7 15l &A HEIZD 4 3.15.067

Lozxl)—

C-RAFa1T—F




B IBFIR (SIERD
Ca—FrRoyoHRE)

FEUEEFES1=7La— NSYIRE—RRr—MEFIEALBAKRES ERk21E3815H

l]\_"‘TﬂEﬁ—"‘Tﬂ# —+ 1000m

148
EHIE #84 No. K% & B/a 24 L =1
1 1 19 A% BEH PFEUVIHST 34 157.777

2 2 14 ™M FE HEIST 21 1.57.989

3 3 20 /hith TEER PEVIHIST 13 1.58.421

4 4 17 B H HEYSD 8 2.48.098



25 B 3 (268 B IE67)

va—kcoyoER

FAURRFRS1=27a—MIVIRE—RFRT— MEFERRE /KRR

INFEEZFF BF 1000m

59Uk JBfL No K4 Bil] B IBAL A B 152 2% X 1 B0 5K ik
R 1 197K BEM PFEFUVIHIST 34 1 1 157.777

2 14 ¥ FiE HEIZT 21 2 1 1.57.989

3  20/hth mEA PFEFUVIHIST 13 3 2 1.58.421

4 171R & WEIZT 8 4 2 2.44.798
& 5 18:&EEk BN WEIZT 3 3.02.022

6 16 5F EA WEIZT 3 3.31.528

7 15l &A WEIZD 4 3.15.067

Lozxl)—

C-RAFa1T—F




Ca—FSuoERR)

A EHL

(S IES)

FURRFRO1=73a—MIVIRE—RRT—MEFERRBEBRRR

%L No K& Bl BE SF JEfE 1000 BEE: RESINiEk ([BE
1 19F7% BEMH PFEFUVIHIST 34 1 1 01 157.777

2 14 ¥ FiE WEIZT 21 2 2 02 1.57.989

3  20/hth FEa PFEFUVIHIST 13 3 3 03 1.58.421

4 17/ %R WEIZT 8 4 4 04 2.44.798

5 18 =@ &4 WEIZT 5 5 05 3.02.022

6 16 5F EA WEIZT 6 6 06 3.31.528

7 15l &A WEIZT 7 7 07 3.15.067

Lozxl)—

C-AFa1J—K




B IBFIR (SIERD
Ca—Froy o)

FEUEEHFES1 =7 a— NSYIRE—RRT—MNEFIEALBAKREL ERk21E3815H

INFERPE %* o00m
TR 2 V%

148
EHIE #4& No. K% iTE B/a 24 L BE%
1 2 19 A BEH PFEUVTHST 101.132 Q

2 4 117 B H HEIST 122670 Q

3 5 18 =ik BN HEIST 1.22.751

248
EHIE #4 No. K% TiE B/a 24 L =1
1 1 14 #W FiiE HEIST 59.341 Q

2 3 20 /hith TEER PFEUVIHTT 59.519 Q

3 6 15 T f&A HEYSD 1.30.177

4 7 16 TE EA HEYSD 143576



25K B 3R (268 B IE67)

va—kcoYoER

FAURRFRS1=27a—MIVIRE—RRT— MEFERRE AR

INFE{E24FE BF 500m

SHUR JERL No K& Bl B IBAL A B 152 2% X 1 B0 5K ik
FE 1 14 ¥ FifE WEIST 1 59.341

2 19 7% EEH PFEUVHIST 1 1.01.132

3 20/hth mEA PFEVIST 2 59.519

4 177 %R WEIST 2 1.22.670

5 18 =@ &4 WEIST 3 1.22.751

6 15 HIl &M WEITT 3 1.30.177

7 16 &FE EA WEIZT 4 1.43.576

Lozxl)—

CRAFa1T—F




B IR (SIEED
Ca—Frou o)

FAURRFR2=T7a—MIVIRE—FRT—MNEFEXRZEBRR

ER215E3815H8
INFHEIESFE B F 500m
148
EIE B8 No. K# FiE B8 H4L  fEE
1 1 14 # FiiE BEITT 34 58.649
2 2 19 B BEH PEVZIIT 21 58.750
3 3 20 /pith FEEa PFEUIVSD 13 59.435
4 4 17 B H HEYSD 8 1.20.619



25 B 3R (268 B IE 1)

va—kcSYoER

FURRFRS1=27a—MIVIRE—RRT— NEFEAKE B RR

INFHE{E24FE BF 500m

SHUR JERL No K& Bl B IBAL A B 152 2% X 1 B0 5K ik
R 1 14 W FHE WEIST 34 1 1 58.649

2 19 7% EEH PFEVHIST 21 2 1 58.750

3  20/hth EA PFEUVHIST 13 3 2 59.435

4 171R & WEIST 8 4 2 1.20.619
& 5 18:&EEk BN WEIST 3 1.22.751

6 15 HIl &M WEITT 3 1.30.177

7 16 &FE EA WEITT 4 1.43.576

Lozxl)—

CRAFa1T—F




Ca—FrFSuoERR)

AT IEHL

(SRS

FURRFRO1=T3a—MIVIRE—RRT—MEFHEAREERE

% No K& Bl B4 SF JEfZA 1000 500 S=IER ReEttE HE
1 19F7% BEMH PFEVZHST 55 3 1 2 01-02 157777

2 14 ¥ FiE WEIST 55 3 2 1 01-02 157.989

3  20/hth FmEa PFEUVHIST 26 6 3 3  03-03 1.58.421

4 177 % WEIST 16 8 4 4  04-04 244798

5 18 =@ & WEIST 10 5 5 05-05 3.02.022

6 16 5F A WEITT 13 6 7 07-06 3.31.528

7 15 HIl E8M WEIST 13 7 6 06-07 3.15.067

Loxl)—

C-AFa1J—K




B IR (SIERD
(a—FrRou o)

BEUREHE 127 3—MNIVvIRE—R Ry —MNEFIEASBAAS ER215E3815H8

INEAEEZE ZF 1000m

= WX CTED

148
EHIE #4& No. K% & B/a 24 L k=
1 2 114 INE BRIF PFEVIHTT 202993 Q
2 4 115 KB BF PFEUVZHIT 208175 Q
3 6 109 ™ HFF HEIST 3.20.719
- - 112 Ipth fRE PFEUVZHIT DNS
248
EHIE #84 No. K% & B/a 24 L k=
1 1 113 Hd F=E PFEURTHST 158062 Q
2 3 111 #®E 8 HEIST 202423 Q
3 5 110 &F # HEIST 2.10.226



25K B3R (268 B IE 1)

va—kcSYoER

FURRFRO1=Ta—MIFVIRE—F Ry —MEFHEARE RS

N B £ F 1000m

59Uk JBfL No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
FE 1 113 HEB FE PFUVIHIT 1 1.58.062
2 114 N2 BRF PFEURZHST 1 2.02.993
3 111 R HE WEITT 2 2.02.423
4 115 KB BFH PFUVIHIT 2 2.08.175
5 110 5T # WEIST 3 2.10.226
6 109 ¥ HFHFF WEITT 3 3.20.719
112 /hith {RE PFEURHST DNS
Lozxl)—

CRAFa1T—Fk




B IR (SIEED
(Ca—Frou IR

FEUEEHFES1=7La— SYIRE—KRRT—MNEFEALSBARE ERk21E3815H

INFEEFF ZF 1000m
L

148

EHIE #84 No. K#£ i B/a 24 L ik
1 1 113 H% F=E PFEVIHTT 34 1.56.385

2 2 114 INE EBHF PFEVHTT 21 2.00.109

3 3 111 ®E %8 HEYSD 13 2.00.364

4 4 115 KB BF PFEUVZHIT 8 2.10.186



25K I3 (2688 B IE 1)

va—kcSyoER

FURRFRO1=Ta—MIVIRE—F Ry —MEFERSEARE

N RS £ F 1000m

59Uk JBfL No K& Bl B IBAL A B 152 2% X 1 B0 5K ik

RE 1 113 B F=E PFUVIHIT 34 1 1 1.56.385
2 114 1NE HBRF PFUVIHST 21 2 1 2.00.109
3 111 R HE WEISD 13 3 2 2.00.364
4 115 KB BF PFUVIHST 8 4 2 2.08.175
FE 5 110ET # WEYST 3 2.10.226
6 109 ¥ HFHFF WEVST 3 3.20.719

112 1Nt fRE PFUVIHIT DNS

Lozxl)—

C-RAFa1T—k




Ca—FrFSY oK)

AT IEHL

(SRS

FURRFRO1=TIa—rMIVIRE—RFRT—MEFEASEERR

IIEGE No K4 g B/a SF IEfE 1000 BEIER: fReiiix (EE
1 113 B F=E PFUVIHST 34 1 1 01 1.56.385

2 114 /N2 HBRF PFUIHIT 21 2 2 02 2.00.109

3 111 R HE WEISD 13 3 3 03 2.00.364

4 115 KB ZF PFUVIHST 8 4 4 04 2.08.175

5 110 5T # WEYST 5 5 05 2.10.226

6 109 ¥ HFF WEYST 6 6 06 3.20.719

112 1N fRE PFUVIHST -
Loxl)—

C-AFa1J—K




B IR (SIEAD
Ca—FrSu IR

FUEEFES1=7La— S99 RE—RRY—MNEFERESREAAE ERk21E3815H

INFERZPSE Z2F 500m

FixE 2 275 ]
148
EHIE #84 No. K% g B/a 24 L k=
1 2 114 INE BRF PFEVIHTT 1.01.113 Q
2 3 111 #®E 8 HEIST 101481 Q
3 6 109 ™ HFF HEIST 1.29.063
248
EHIE #8E& No. K#£ g B/a 24 L k=
1 1 113 Hd F=E PFEURTHST 56.804 Q
2 4 110 BT # HEIST 103553 Q
3 5 115 K& ZF PFEUVZHIT 1.13.093



25K I3 (268 B IE 1)

va—kcSyoER

FURRFRO1=Ta—MIFVIRE—FRr—MEFEXSEARE

INFHE{EZ24F Z2F 500m

59Uk JBfL No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
FE 1 113 HEB FE PFUVIHST 1 56.804

2 114 1NE HBRF PFUVIHST 1 1.01.113

3 111 R A WEITT 2 1.01.481

4 110 8T # WEIST 2 1.03.553

5 115 K% EF PFUVIHST 3 1.13.093

6 109 ¥ HFHFF WEYST 3 1.29.063

Loxl)—

C-RAFa1T—k




AR IR (SIEED
(a—FrRSu IR

FUEAEHES1 =7 a— S RE—R Ry —NEFHALSAA XS EK2143H 158
INFEHEESEE ZF 500m
R

148

HIE #4& No. K#£ & (3= A Ls k=
1 1 113 HAd F=E PEUVIHST 34 57.647

2 2 114 INE ERF PFEURZHSD 21 59.952

3 3 111 f#E ¥ HEIZT 13 1.00.252

4 4 110 BT # HEYSD 8 1.03.424



25K IE{ 3 (2688 B IE 1)

va—kcoyoER

FURRFRO1=Ta—MIFVIRE—FRr— MEFHEASEERE

INFHE{E24F Z2F 500m

59Uk JBfL No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
RE 1 113 B FE PFUVIHST 34 1 1 56.804

2 114 1NE HBFRF PFUVIHST 21 2 1 59.952

3 111 R HE WEIST 13 3 2 1.00.252

4 110 8T # WEYST 8 4 2 1.03.424
FE 5 115 kEH BF PFUVIHST 3 1.13.093

6 109 ¥ HFF WEITT 3 1.29.063

Loxl)—

CRAFa1T—kK




va—kcSYoER

AT IEHL

(B IEA)

FURRFRO1=Ta—rMIVIRE—RF Ry —MEFEASE SRR

&SI No K& Bl B4 SF JEfZA 1000 500 S=IER RettE HE
1 113 B F=E PFUVIHST 68 2 1 1 01-01  1.56.385
2 114 /N2 HBRF PFUVIHST 42 4 2 2 02-02 2.00.109
3 111 R ¥F HEIST 26 6 3 3 03-03 2.00.364
4 115 KB ZEF PFUVIHIT 8 9 4 5 04-05 208.175
5 110 5T # WEITT 8 9 5 4 04-05 210226
6 109 ¥ HFF HEITT 12 6 6 06-06 3.20.719
112 1N {RE PFUVIHIT - -
Loxl)—
C-RAFa1J—F




B IR (SIERD
Ca—FrSu IR

FUEEFES1 =7 a— IS99 RE—RRY—MEFHERSAAAE ERk21E3815H

INEATSE BT 1000m
T 2 2951

148
EHIE #84 No. K#£ g B/a 24 L k=
1 17 &t K HEIST 146228 Q

2 3 13 AEH EKXER PFEUVIH5T 150217 Q

3 5 8 BHRE R HEIST 1.50.277

4 7 11 =EE BN HEIST 2.02.338

248
EHIE #84 No. K#£ & B/a 24 L k=
1 2 12 PR #HEk PFEVIHTT 150440 Q

2 4 9  Fgith JEH HEYSD 150523 Q

3 6 6 AT # HEIST 1.52.785

10 # Hth HEYSD DNS



25K B3 (268 B IE 1)

va—ccSY o

FURRFRO1=Ta—MIVIRE—F Ry — MEFEASE SRS

IMNEASFE BF 1000m

59Uk JBfL No K4 i B IBAL A B 152 2% X 1 B0 5K ik
FE 1 7 &t K WHEITD 1 1.46.228
2 12 TR thik PFUVIHST 1 1.50.440
3 13 AF [EAXRER PFUVIHST 2 1.50.217
4 9 Fith L WEYST 2 1.50.523
5 8 ERE R HEITT 3 1.50.277
6 6 & F ## HEIZT 3 1.52.785
7 1 Efk =Y WEITT 4 2.02.338
10 #% Hth WEITT DNS
Loxl)—

C-AFa1T—K




B IR (SIEED
Ca—FrouoHRE)

FEUEEFES1=7a3— IS99 RE—RRY—MEFERSFAAARE ERk21E3815H
INF A SR Ez% 1000m
b3

148

HIE #4& No. K#£ g (3= A Ls BE
1 17 it #X HEDTD 34 1.49.328

2 2 12 ;R #hik PEUVRIIST 21 1.49.896

3 3 9 Gyt &t HEYSD 13 1.50.773

4 4 13 7\ EKXER PFEURZHST 8 1.53.589



25K B3 (268 B IE 1)

va—ccSY o

FURRFRO1=Ta—MIVIRE—F Ry —MEFEASE A RS

IMNEASFE BF 1000m

59Uk JBfL No K4 i B IBAL A B 152 2% X 1 B0 5K ik
3 7 &t K WEITD 34 1 1 1.46.228
2 12 TR thik PFUVIHST 21 2 1 1.49.896
3 9 Fith HEITT 13 3 2 1.50.523
4 13 5% [EAXER PFUVIHIT 8 4 2 1.50.217
FE 5 8 ERE K WEITT 3 1.50.277
6 6 & F # WEITT 3 1.52.785
7 1 Efk =Y WEITT 4 2.02.338
10 #% Hth WEITT DNS
Lozxl)—

C-AFa1T—K




Ca—FrFSyomR)

AT IEHL

(B IES)

FURRFRO1=72a—rMIVIRE—RF Ry —MEF AR/ KRR

B No K4 & BE SF JEfE 1000 BEEN REINiEk  ([BE
1 7 %t K WEITT 34 1 1 01 1.46.228

2 12 R thEk PFUIHST 21 2 2 02 1.49.896

3 9 Zith s WEITT 13 3 3 03 1.50.523

4 13 5% [EXER PFUIHST 8 4 4 04 1.50.217

5 8 ERE R HEITT 5 5 05 1.50.277

6 6 5 # HEITT 6 6 06 1.52.785

7 1 Efk =Y HEITT 7 7 07 2.02.338

10 #% Hth WEYST -
Loxl)—

C-AFa1J—K




B IR (SIEED
Ca—FroyoHRE)

FUEEHFES1=7La— IS9IRE—RRY—MNEFERESAAAEL ERk21E3815H

INEAESSE BT 500m
T 2 2951

148
EHIE #84 No. K#£ & B/a 24 L B
1 2 7 #Hith X HEIST 52.693 Q

2 4 13 AEH EKXER PFEVIHS5T 54.956 Q

3 6 8 wERE R HEIST 56.620

248
EHIE 84 No. K#£ i@ B/a 24 L k=i
1 112 PR thik PFEUVIHST 52.500 Q

2 3 9 Fgith jE HEYSD 52.644 Q

3 5 6 AT ¥ HEIST 55.558

4 7 11 =EE BN HEIST 59.334



25K IEH 3 (268 B IR 1)

va—kcov IR

FURRFRS1=27a—IVIRE— R R —MEFHEASBA RS

INFEEFPEF BF 500m

59Uk JBfL No K4 FiE B IBAL A B 152 2% X 1 B0 5K ik
FE 1 12 BR #HhEk PFUVIHST 1 52.500

2 7 &t K HEITT 1 52.693

3 9 Fith L WEYST 2 52.644

4 13 5% [EAXER PFUVIHST 2 54.956

5 6 & # WEITT 3 55.558

6 8 ERE R HEITT 3 56.620

7 1 Efk =Y HEITT 4 59.334

Loxl)—

C*AFa1J—K




AR IBHR (SIEED
(Ca—FroyoERE)

FUEEHFES1=7La— IS99 RE—RRY—MEFERSAAAE ERk21E3815H
INEE S FF BT 500m
b3

148

HIE #4& No. K#£ E (3= A Ls ik
1 17 it #X HEDTD 34 52.427

2 2 12 ®E;R #hik PEURZIST 21 52.566

3 3 9 Gyt &t HEYST 13 52.717

4 4 13 7\ EXER PFEURZHST 8 55.232



25K B3 (268 B IE 1)

va—kcovOER

FURRFRS1=27a— I IVIRE—RF R —NEFERRARRR

INFEEFFEF BF 500m

S59UF JBfL No K4 i B IBAL A B 152 2% X 1 B0 5K ik
3 7 &t K WEITT 34 1 1 52.427

2 12 TR thik PFUVIHST 21 2 1 52.500

3 9 Fith s HEITT 13 3 2 52.644

4 13 5% [EAXER PFUVIHST 8 4 2 54.956
FE 5 6 & ## WEITT 3 55.558

6 8 ERE K WEITT 3 56.620

7 1 Efk =Y WEITT 4 59.334

Loxl)—

C*AFa1J—K




Ca—FrFoyomR)

AT IEHL

(BB IEA)

FURRFRO1=7a—rIVIRE—F Ry —MEF RSB/ KRR

&SI No K4 & B4 SF JEfZA 1000 500 S=IER REttE  EE
1 7 Fit K WEITD 68 2 1 1 01-01  1.46.228

2 12 R thEk PFEVHIST 42 4 2 2 02-02  1.49.896

3 9 Fith s WEITT 26 6 3 3  03-03 150523

4 13 5% [EXER PFUVIHST 16 8 4 4 04-04 150217

5 8 ERE R WEITT 11 5 6 05-06 1.50.277

6 6 & ## WEITT 11 6 5 05-06 1.52.785

7 1 Efk =Y HEITT 14 7 7 07-07 2.02.338

10 #% Hth WEYST - -
Loxl)—

C-AFa1J—K




B BT (SIEED
(Ta—FrRoy o)

FURARFE 127 3— NS RE—RKRT—MNEFIEASAAAS ERk21E3815H
INF A SR Ez% 1500m
b3

148

HIE #4& No. K#£ E (3= A Ls BE
1 17 it #X HEDTD 34 2.47.520

2 2 9 it & HEIST 21 2.48.390

3 3 12 ;R #hik PEURZHIST 13 2.53.530

4 4 13 [\ {EKXER PFEURZHST 8 2.58.979



AR NERIFR (REEE R NE L)
va—k oy DR

FURRFRO1=Ta—MIVIRE—FR T —MEFERERAKRE

INEASFE BT 1500m

S59UF JBfL No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
3 7 &t K WEITD 34 1 2.47.520
2 9 Fith s WEITT 21 2 2.48.390
3 12 TR thidk PFUVIHST 13 3 2.53.530
4 13 5% [EAXER PFUVIYST 8 4 2.58.979
Lox!)—

C-AFa1J—K




Ca—FrFRoyomR)

AT IEHL

(A IESD

FURRFRO1=7a— I IFVIRE—F Ry —NRF XA/ KRS

&SI No K4 & B4 SF JEfZA 1000 500 S=IER REttE HE
1 7 Fith K WEITT 102 1 2 1 1 01-01  1.46.228

2 12 R thEk PFEVHIST 5 3 4 2 2  02-02  1.49.896

3 9 Fith WEITT 47 2 6 3 3 03-03 150523

4 13 5% [EXER PFUVIYST 24 4 8 4 4 04-04 150217

5 8 ERE R WEITT 11 5 6 05-06 1.50.277

6 6 & ## WEITT 11 6 5 05-06 1.52.785

7 1 Efk =Y WEITT 14 7 7 07-07 2.02.338

10 #% Hth WEYST - -
Lozl)—

C-AFa1J—K




A3 IBLE (SRR
T3 Moo BR)

FEURARFES 127 3— NSV RE—RRT—MEFEASBAAARS ERk21E3815H

INEESERE Z2F 1000m
R

148
EIE 88 No. K& FilE Ba B4 L =
1 1 106 /hth BE PFEUVIHST 34 1.46.466

2 2 107 Hh BEiR PFEUVIHIT 21 1.46.521

3 3 108 /KB H®E PFEVZHIT 13 1.52.024



AR NEAIFR (RERE R IE L)
va—kcoyO%ER

FURRFRO1=Ta—MIVIRE—RFR T —MEFERERMA KRS

INEESEEE Z2F 1000m

S9Uk B No K4£

g B Bhm B3 £ bl LI k=
REE 1106 /Nt {BE PFEVIHS5T 34 1 1.46.466
2 107 Hp R PFUVIYST 21 2 1.46.521
3 108 KE ¥ PEUVRZYST 13 3 1.52.024
Loxl)—

C-AFa1J—K




A IEFIR (B SIS

Ca—FrFoyomR)

FURRFRO1=73— IFVIRE—RF R —MRFEREAB KRS

IEGE No K4£ g BE SF IEfE 1000 BEIER: ReEiizx (EE
1106 /hith fRZE PFUVIHIST 34 1 1 01 1.46.466
2 107 He B PFUVIYIST 21 2 2 02 1.46.521
3 108 KE ¥® PFUVIYST 13 3 3 03 1.52.024

Lozx!)—

C-AFa1J—K




B BT (SI2EED
(a—Frou IR

FEUEEHFES1=7La3—rSYIRE—RRy—MEFIEALSRARE ERk21E3815H

INEESSEE LF 500m
R

148

EIE #48 No. K% FiiE Ba B4 L BE%
1 1 106 /Mt BE PFEUVTHST 34 52.056

2 2 107 Hh EEiR PFEUVIHST 21 52.935

3 3 108 /KB ®E PFEUVZHTT 13 54.102



AR BRI TR (RERE R IEfL)
va—ko YR

FURRFRO1=Ta—MIVIRE—FR7—NEFEASEERE

INEESSEE LF 500m

Sy kR JBL No K4£

& B BRI A JIE 152 3% X 1 B0 5K ik
REE 1106 /Mt {BS PFUVIIST 34 1 52.056
2 107 He B PFUVIYST 21 2 52.935
3 108 /KE ¥® PFUVIYIST 13 3 54.102

Lozl)—

C-AFa1J—K




SR NEGIER (BEIESL)
OEN P13

FURRFRO1=7I3a— FVIRE—F R —MRFERRABRS

B No K4 g Ba SF IEfAE 1000 500 BEIER e oz
1 106 /Mth B PEURZHST 68 2 1 1 01-01 1.46.466
2 107 Hh BEMR PEUVRZHIST 42 4 2 2 02-02 1.46521
3 108 KE ¥ PEUVRZHIST 26 6 3 3  03-03 152024

Loxl)—

C-AFa1J—K




B BT (S2EED
(Ta—FrSu IR

FEUEEHFES1=7a3—MSYIRE—RRr— B FIEALFAAKRE ERk21E3815H

INEESERE ZF 1500m
R

148
EIE 88 No. K% FiiE Ba B4 L =1
1 1 106 /hith BE PFEUVIHST 34 2.43.762

2 2 108 KB HE PFEUVZHST 21 2.43.963

3 3 107 Hh BEEiR PFEUVIHIT 13 2.44.153



25K IE A3 (268 B IE 1)

va—kcov IR

FURRFRO1=Ta—MIVIRE—FR T —MNEFERSR A RS

INEESERE ZF 1500m

5%UF B No K# &

B Bhm B3 £ bl LI k=
REE 1 106 /Mith (RS PEURZHIST 34 1 2.43.762
2 108 KE ¥ PEUVRZHIST 21 2 2.43.963
3 107 EHp R PFUVIIST 13 3 2.44.153
Loxl)—

C-AFa1J—K




AR EGFR (BEIESL)
OE NPV 1)

FURRFRO1=7I3a— FVIRE—RF R — RFERRBABARS

B No K4 g Ba SF IEfAE 1000 500 BEIER e oz
1 106 /Mth A PEURZHIST 102 1 2 1 1 01-01 1.46.466
2 107 Hh BEMR PEUVRZYST 55 3 4 2 2 02-02 1.46521
3 108 KE ¥ PEUVRZHST 47 2 6 3 3  03-03 152024

Loxl)—

C-AFaJ—Fk




AR IE % (59 FR)
ICE=sT77 23

FEUEEHFES 17 3—MSYIRE—RRr— BFIEALBAKRE ERk21E3815H

hep ALl E %% 1500m
b3

148

EIE 48 No. K& FriE Ba 4L EE
1 1 2 BT E INEB R 34 2.36.106

2 2 4 KB KE RIE R4 21 2.36.311

3 3 3 Fgith TR B PR 13 2.36.490

4 4 5 MW HZ LRGP ER 8 2.48.437

- 5 1 |UFE KBA INTFFREFER 5 Disq



25K A3 (268 B IR 61)

va—kcov 5%

FURRFRO1=Ta—MIVIRE—FR T —MEFERERARE

gLl E BF 1500m

59Uk B No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
R 25T B INBR R 34 1 2.36.106
2 4 X8 RE RIEF 21 2 2.36.311
3 3HFH M FF BB ER 13 3 2.36.490
4 5 /I BEZ LMEA R 8 4 2.48.437
5 1 1Ll KBA INFRE R 5 Disq
Loxl)—

C-AFa1J—K




AR IBHLE (B EIELD

FURRFRO1=7Ia— FVIRE—RRT - RFERRBE RS

JIERE No K4 il BE SF IEfE 1500 BEER: ReEiix (EE
1 25T B INBR R 34 1 1 01 2.36.106
2 4 X8 RE RIE R 21 2 2 02 2.36.311
3 1 U8 KBA I\ FRER R 5 5 5 05
4 3HFH M HF B ER 13 3 3 03 2.36.490
5 5 /I BEZ LEREAER 8 4 4 04 2.48.437
Loxl)—

C-AFaJ—Fk




AR BT (G2EED
a—Frou R

EURREHES 127 a— IV IRE—R Ry —NEFHEASARKRES FR214E3815H
herd Ll b Bz% 500m
R

148

EIE #& No. K% FiE Ba 4L EE
1 1 2 BT E INEBRER 34 48.084

2 2 1 i#E KB INTFFREFER 21 48.659

3 3 4 KB KE RIE R4 13 48.730

4 4 3 Fith TR B PR 8 50.277

5 5 5 KK = LRGP ER 5 1.05.942



SR NELIFR (REHE R IEfL)
va—koY IR

FURRFRS1=2T7a—rIVIRE—FRT—MEFERRE /KRR

4 Ll E BF 500m

S59UK B No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
R 25T B INBR R 34 1 48.084
2 1 1Ll KBA INTFREFEERL 21 2 48.659
3 4 X8 RE RIEF 13 3 48.730
4 3HFH M FF B ER 8 4 50.277
5 5 /I BEZ LA R 5 5 1.05.942
Loxl)—

C-AFa1J—K




A EGIER (BEIESL)
Ca—FSu oK)

FURRFRO1=7Ia—rIFVIRE—RFRT—FRFERRBERRE

JIESL No K& Bl B4 SF A 1500 500 R=IEM FREieiE
1 25T E INBR R 68 2 1 1 01-01 2.36.106
2 4 X8 RE RIE 34 5 2 3 02-03 2.36.311
3 1 U8 KBA I\ FRERZER 26 7 5 2 02-05
4 3HFHM JF B PR 21 7 3 4  03-04  2.36.490
5 5/ BEZ LA ER 13 9 4 5  04-05 2.48.437

Loxl)—

C-AFaJ—Fk




5%



AR BT (G2FED
Ca—Frou IR

FEURARFE 127 3— M SYIRE—R Ry —NEFHERSEAAKRE ERk21E3815H

hep ALl E %% 1000m
b3

148

EIE 48 No. K& FiE Ba 4L EE
1 1 2 BT E INEB R 34 1.41.600

2 2 4 KB KE RIE R4 21 1.41.815

3 3 3 Fgith TR B PR 13 1.41.884

4 4 5 MW HZ LEREAPER 8 1.42.458

5 5 1 |Ui#E KA INTFFRERER 5 2.17.654



SR NEELFR (RERE R IEfL)
va—kTY IR

FURRFRO1=2T7a—rIVIRE—RRT— M EFIERKE B R

&Ll E BF 1000m

S59UR B No K4 Bil] B IBAL A B 152 2% X 1 B0 5K ik
R 25T B INBR R 34 1 1.41.600
2 4 X8 RE RIE P FR 21 2 1.41.815
3 3HFHM FF B PR 13 3 1.41.884
4 5 /I BEZ LWEA R 8 4 1.42.458
5 1 1Ll KBA INTFRERERL 5 5 2.17.654
Loxl)—

C-AFa1J—K




AR IEEE B AIE)

FURRFRO1=TI3a— I IFVIRE—FR 7T — RFERRABRS

BB No K4 Bil] B45 SF JEfZA 1500 500 1000 FEIEM ZEEE HE

1 25T E INERER 102 3 1 1 1 01-01-01 2.36.106

2 4 X85 RE FIE 24 55 7 2 3 2 02-02-03  2.36.311

3 1 Wil KEA I\NFRER R 31 12 5 2 5  02-05-05

4 3HFH M FF B PR 34 10 3 4 3 03-03-04  2.36.490

5 5 /I BEZ LREA R 21 13 4 5 4  04-04-05 248437
Loxl)—

C-AFaJ—Fk




AR IE % (59 FR)
ICE==T77 #:3

FEURARFE 127 3— N SYIRAE—RF Ry —MEFHEASEAR RS ERk21E3815H

hep ALl E %% 3000m
b3

148

EIE #& No. K& FiE Ba 4L EE
1 1 2 BT E INEBRER 39 5.18.247

2 2 1 i#E KB INTFFREFER 21 5.18.352

3 3 4 KB KE RIE R4 13 5.19.306

4 4 3 Fgith TR B PR 8 5.30.285

5 5 5 I\ = LRGP ER 5 6.06.786



25K B3 (BE B A IE61)

va—kcov IR

FURRFRS1=2T7a—rSVIRE—RFRT— N EFEAKE B RS

heEd Ll E BF 3000m

59Uk BB No K4 Bl B IBAL A B 152 2% X 1 B0 5K ik
R 25T B INBR R 39 1 5.18.247
2 1 WLl KEA INTFREF RS 21 2 5.18.352
3 4 X8 RE RIE 13 3 5.19.306
4 3H M HF B ER 8 4 5.30.285
5 5 /I BEZ LEMEA R ER 5 5 6.06.786
Loxl)—

C-AFa1J—K




AR IEEE B AR

FURRFRO1=TIa—rIFVIRE—FR T —RFERRABRARS

JESL No K4 Bil] 5 SF IEfA 1500 500 1000 HElEM FEEiLiE HE
1 25T E INBR R 141 1 3 1 1 1 01-01-01 2.36.106
2 4 X5 RE RIE 2 68 3 7 2 3 2 02-02-03 2.36.311
3 1 WUl KEA INTFRER RS 52 2 12 5 2 5 02-05-05
4 3HFH M FF B ER 42 4 10 3 4 3 03-03-04 2.36.490
5 5 /I BEZ LREAER 26 5 13 4 5 4 04-04-05 2.48.437
Loxl)—

C-AFaJ—Fk




AR IE % (5T FR)
ICZ==T77 23

FEURARFE 127 3— M SYIRAE—R Ry —MEFHEASAAR RS ERk21E3815H

ALl E ZF 1500m
R

148

EHIE #8E4 No. K#£ TiE B/a EEN ik
1 1 102 Fith #EK FRILER 34 2.32.735

2 2 101 Fith 1&F INBEEER 21 2.33.590

3 3 105 diB ¥ FIE 28 13 2.34.468

4 4 104 st BE BER PR 8 2.36.237

5 5 103 Zgith #HtL INEB R 5 2.36.370



25K I3 (BB B BB 61)

va—kcov IR

FURRFRO1=Ta—MIVIRE—RRT—NEFEREBAB KRS

ALl E ZF 1500m

S59UK B No K4 Bl B IBAL A B 152 2% X = 50 8K ik
RS 1 102 &ith #EUK RIS 34 1 2.32.735
2 101 #ith 1&F% INEBEESK 21 2 2.33.590
3 105 dti# ¥ Rlg g 13 3 2.34.468
4 104 xh BHE 1B R PR 8 4 2.36.237
5 103 Fith gL INEREER 5 5 2.36.370
Lozl)—

C-AFa1J—K




4 L (48 B i)

FURRFRO1=TIa—rIVIRE—RRT—FRFERRBE RS

JIERE No K4 g BE SF IEfE 1500 BEER: ReEiix (EE
1102 Fith #FK RIS 34 1 1 01-01  2.32.735
2 101 &t &% INEBEESKR 21 2 2 02-02  2.33.590
3 104 ixh S 1B R PR 8 4 4 04-04  2.36.237
4 105 b8 % RIE 13 3 3  03-03 2.34.468
5 103 Fith #fhgl INEREER 5 5 5 05-05 2.36.370
Lozl)—

C-AFaJ—F




B BT (G2EED
Ca—Frou 73R

FEUEEBFES 17 3— I SYIRE—RRT—FEFIEALBAKREL ERk21E3815H

hep a4 L E ZF 500m
R

148

EHIE #8E4 No. K#£ & B/a 24 L k=
1 1 102 Fith #EK FRILER 34 48.221

2 2 104 it BE IBER PR 21 48.936

3 3 101 Fith 1&KF INBEESR 13 49.049

4 4 103 Fgith AL INEB R 8 50.698

5 5 105 1t ¥ FIE 28 5 51.040



SR NEGL TR (PR B IEGL)
va—khov IR

FURRFRO1=Ta—rIVIRE—RRT—MEFEREZBAB RS

ALl E ZF 500m

59Uk B No K4 Bl B IBAL A B 152 2% X = 50 8K ik
RS 1 102 &ith #EUK RIS 34 1 48.221
2 104 ith BX 1B R R 21 2 48.936
3 101 Fith 1&F% INEBEEEK 13 3 49.049
4 103 Zgith #hizl INERER 8 4 50.698
5 105 dti# ¥ Rg 2 5 5 51.040
Loxl)—

C-AFa1J—K




AR IBHE (B IED

FURRFRO1=TIa— IVIRE—RRT—FEFEARRBERRR

JESL No K4 Bl 185 SF IEfA 1500 500 BEIEM Reicix  GBE
1102 Fith #FK RIS 68 2 1 1 01-01  2.32.735
2 101 &t &% INEBEESKR 34 5 2 3 02-03  2.33.590
3 104 ixh BS 1B R PR 29 6 4 2  02-04 2.36.237
4 105 L8 % RIE 18 8 3 5 03-05 2.34.468
5 103 Fith #hgL INEREER 13 9 5 4 04-05 2.36.370
Lozl)—

C-AFaJ—F




B BT (2R
Ca—Frov 7R

FURARFES 127 3— N SYIRAE—R Ry —MEFHEASBARKRE ERk21E3815H

ALl E ZF 1000m
R

148

EHIE #8E& No. K & B/a BN k=
1 1 102 Fith #EK FRILER 34 1.40.700

2 2 101 Fith 1&F INBEEER 21 1.41.701

3 3 104 it BHE BERPER 13 141.774

4 4 103 Fgith AL INEB R 8 1.43.369

5 5 105 1t ¥ FIE 28 5 1.45.639



AT IEHL

va—kcov IR

FURRFRO1=Ta—IVIRE—RRT—MEFHERRBAA RS

(EE Bl B IE 1)

4Ll E ZF 1000m

59K BB No K4 i B IBAL A B 152 2% X = 50 8K ik
REE 1 102 &ith #EUK RIS 34 1 1.40.700
2 101 #ith &% INEBEESK 21 2 1.41.701
3 104 ixh BS 1B R PR 13 3 1.41.774
4 103 Zgith #hizl INEREER 8 4 1.43.369
5 105 dti# ¥ RIE 2R 5 5 1.45.639
Loxl)—

C-AFaJ—K




AR IEEE B AIEE)

FURRFRO1=7Ia— FVIRE—RRT—MEFEARBEARE

JESL No K4 i B4 SF JEfZA 1500 500 1000 HZElEl HELE  HE
1102 Fith #FK RIS 102 3 1 1 1 01-01-01 2.32.735
2 101 &t 8% INEBEESKR 55 7 2 3 2 02-02-03 2.33.590
3 104 it BHE BRPER 42 9 4 2 3 02-03-04 2.36.237
4 105 b8 % RIE 23 13 3 5 5 03-05-05 2.34.468
5 103 Fith L INERER 21 13 5 4 4 04-04-05 2.36.370
Lozl)—

C-AFaJ—F




B IEFR (S2EED
Ca—Frov75RR)

FURARFES 127 3— M SYIRAE—RF Ry —MEFHEASBAR RS ERk21E3815H

4 Ll E ZF 3000m
R

148

EHIE 84 No. K4 & B/a BN B
1 1 102 Fith #EK FRILER 34 5.17.193

2 2 101 Fith 1&KF INBEEER 21 5.20.803

3 3 105 diB ¥ FE 28 18 5.22.252

4 4 103 Fgith AL INEB R 8 5.25.593

5 5 104 st &BHE IBER PR 5 5.31.301



AT IEHL

va—kcovOER

FURRFRO1=27oa— IV IRE—RFRT— EFEAKE B RS

(EE Bl B IE 1)

4Ll E ZF 3000m

59Uk BB No K4 g B IBAL A IR AL oK ik
RS 1 102 Zith #EUK RIS 34 1 5.17.193
2 101 #ith 1&F% INEBEESK 21 2 5.20.803
3 105 dti# ¥ RIE 2 18 3 5.22.252
4 103 Zgith #hixl INERER 8 4 5.25.593
5 104 st &S 1B R PR 5 5 5.31.301
Loxl)—

C-AFaJ—Fk




23K IEHL
Ca—FrFSyomR)

(SRS

FURRFRO1=7Ia—FVIRE—RRT—FEFEAREERE

BB No K4 i B& SF JEfZA 1500 500 1000 HZElER HEiLE  HE
1102 Fith #FK RIS 136 1 3 1 1 1 01-01-01 2.32.735
2 101 &t &% INEBEESK 6 2 7 2 3 2 02-02-03 2.33.590
3 104 it BHE BRPER 4 5 9 4 2 3 02-03-04 2.36.237
4 105 b8 % RIE R 41 3 13 3 5 5 03-05-05 2.34.468
5 103 Fith #hL INERER 29 4 13 5 4 4 04-04-05 2.36.370
Lozl)—

C-AFaTJ—F




B BT (G2EAD
Ca—Frov 7R

FURARFES 127 3— M SYIRAE—RF R —MEFHEASAAAS ERk21E3815H

A—F> 8t BF 1000m

148
EIE & No. K% i B A4 L =
1 1181 BH & MIA+I5T 34 1.59.442

2 2 182 =#H @A MIA+O5T 21 1.59.943

3 3 183 FH+iE @ MIA+O5T 13 2.04.198



B IEFR (S2FAD
Ca—Frov 7R

FURARFES 127 3— M SvIRAE—RF R —MEFHEASRAA XS ERk21E3815H

T—jyﬁﬁ}i F 500m

148

EIE & No. K% il B A4 L E%
1 1 182 =3 @A MIA+95D 34 57.849

2 2 181 HAH B MIA+O5D 21 58.231

3 3 183 FH+iE @ MIA+O5T 13 59.379



